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B\ [ serremit 0 0 0
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4 R ENCE R ER 2,679,544 3,315,440 A 635,896
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6 BhAke% A 11,920,522 13,744,200 A 1,823,678

7 IS A 2,774,844 3,275,457 A 500,613
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9 ZofhoH 590,293 836,829 A 246,536

e RIEEE AR (2) 424,857,925 412,704,416 12,153,509

P —ERIEEIEIERH (3) = (1) — (2) 23,112,315 1,324,124 21,788,191
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TR W 22 4E (7) = (3) + (6) 23,444,831 1,948,415 21,496,416
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3 BEEETHE L 262,509 5 262,504
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6 FEXyEALEH 0 0 0
el R (9) A 238,322 5 A 238,327
BRI SR (10) = (8) - (9) 238,322 AS 238,327
R EHECERE (11) = (7)+(10) 23,683,153 1,948,410 21,734,743
g AT E A B HE R R4 (12) A 13,148,178 2,456,952 A 15,605,130
7E BRI E B ICERA (13) = (11)+ (12) 10,534,975 4,405,362 6,129,613
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